PR Received dated 14 Sep 2015-20 Sep 2015

Offices Supplies & Consumble Parts

Post Dated 21 Sep 2015

Serial PR No. Document Date Item Code PR Line Description PR Qty Unit Buyer B:iytzl' EMAIL ADDRESS PR Status RFQDg::ZZing
1 11507631 18-Sep-2015 CONZZ30314 CONNECTOERC?)DBI;ISV'\JCE;I;ADSEI;SOE??;IEEREJESLER BLADE 2.00 Each MR. AEK SIRIMUANGKHALA BSP AekS@ssi-steel.com INCOMPLETE 28-Sep-15
2 11507377 14-Sep-2015 STA4006457 ECONOMY WASH BOTTLES,LDPE 6.00 Each MRS. ANCHALEE PIKKANESUAN BSP Anchalee) @ssi-steel.com INCOMPLETE 28-Sep-15
3 11507658 19-Sep-2015 CONAZ06782 BOLT&NUT HEX.HEAD M10-1.5x80 (STAINLESS) FOR MOTOR ROT 110.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
4 11507640 19-Sep-2015 CONZZ06487 SILVER BAR 5 % FOR GAS WELDING uuuuuy 3.00| Kilograms MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
5 11507659 19-Sep-2015 CONZZ08075 SOCKET HEAD CAP SCREW  M5-0.8x40 mm. 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
6 11507656 19-Sep-2015 CONZZ16878 FLAT WASHER M10 (STAINLESS) 150.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
7 11507657 19-Sep-2015 CONZZ21870 SPRING WASHER M10 STAINLESS FOR MOTOR RUN OUT TABLE 150.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
8 11507656 19-Sep-2015 CONZZ22889 BOLT HEX.HEAD&NUT+WASHER M10x1.5x100 STAINLESS 100.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
9 11507633 18-Sep-2015 CONZZ29855 STUD BOLT & NUT & WASHIIEOROMrﬁfn_.?;XSIO mm.(END THREAD = 2.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
10 11507450 14-Sep-2015 CONZZ31670 SOCKET HEAD CAP SCREW M5-0.8x12 MM (STAINLESS) 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
11 11507450 14-Sep-2015 CONZzZ31671 SOCKET HEAD CAP SCREW M5-0.8x16 MM (STAINLESS) 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 28-Sep-15
12 11507341 16-Sep-2015 CONZZ01791 CABLE SIZE 7 x 1.5 S%I\I:I:\/IS.S-I;YCPFICS\éz-S 300V 70 C OLFLEX 1,000.00 Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
13 11507369 16-Sep-2015 CONZZ01791 CABLE SIZE 7 x 1.5 S%I\I:I:\/IS.S-I;YCPFICS\éz-S 300V 70 C OLFLEX 1,500.00 Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
14 11507369 16-Sep-2015 CONZZ01795 CABLE SIZE 3x1.5 SQMM. TYPE CVV 600V 70,C 1,500.00 Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
15 11507654 19-Sep-2015 CONZZ05808 CABLE SIZE 3x1.5 SQMM. TYPE VCT 100.00 Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
16 11507340 16-Sep-2015 CONZZ06187 CABLE SIGNAL RG59 B/U 75 OHM 1,000.00 Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
17 11507563 17-Sep-2015 CONZZ17863 LED INDICATOR 24VDC NO.207-185(RED) 10.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
18 11507564 17-Sep-2015 CONZZ25426 FILTER DRIER TYPE(FLARE) ADK/EK165 5/8"ODF (10TON) 2.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 28-Sep-15
19 11507625 18-Sep-2015 CONZZ05298 WIRE ROPE SLINGS WITH SOFT EYE DIA.24x4000 MM 8.00 Each MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 28-Sep-15
20 11507576 17-Sep-2015 CONZZ13824 LIBEL\-/I—EKI(T\;VLAA?I—'(;\?LFEOPORPEi}I;-I;ERDLFJ(IE;;)ESFIIZ—E g;gl:ld FOR 20.00 Metres MISS JARIYAPORN JANTHAWEE BSP jarivapornja@ssi-steel.com INCOMPLETE 28-Sep-15
21 11507456 15-Sep-2015 CONZZ31757 KIMWIPET 280 SHEETS FOR EPMA 1.00 Each MISS JARIYAPORN JANTHAWEE BSP jarivapornja@ssi-steel.com INCOMPLETE 28-Sep-15
22 11507436 18-Sep-2015 CONZZ01785 CONNECTOR CRIMP PLUG "F" S/N 404-991 BNC PLUGS 50.00 Each MR. KUMPU PHUSAKUL BKK KumpuP@ssi-steel.com INCOMPLETE 28-Sep-15
23 11507580 17-Sep-2015 CONZZ06032 PAINT BRUSH 4" 11.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
24 11507583 17-Sep-2015 CONZZ06152 GRINDING WHEELS TYPE 27,,5523[\%,,A 24 R SIZE 100x6x16 mm. 50.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
25 11507672 19-Sep-2015 CONZZ06463 GRINDING WHEELS TYPE 27,,2F;EMC,, A24 R SIZE 100x2x16 mm. 450.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
26 11507671 19-Sep-2015 CONZZ06498 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.2.6 LD52 130.00| Kilograms MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
27 11507671 19-Sep-2015 CONZZ06501 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.4 MM LD52 80.00| Kilograms MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15

Page 1 of 2




PR Received dated 14 Sep 2015-20 Sep 2015

Offices Supplies & Consumble Parts

Post Dated 21 Sep 2015

Serial PR No. Document Date Item Code PR Line Description PR Qty Unit Buyer B:iytzl' EMAIL ADDRESS PR Status RFQDg::ZZing
28 11507628 18-Sep-2015 CONZZ08594 CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 180x2x22 MM. "SSM" 150.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
29 11507512 15-Sep-2015 CONZZ13840 FILL COAT SHELL (3.500 LT.) 10.00 GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
30 11507641 19-Sep-2015 CONZZ15388 PLASTIC COVER EE.BOX 1 DEVICE 20.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
31 11507515 15-Sep-2015 CONZZ18437 CONNECTOR PM-20 1/4 "NPT (M) (ﬂauﬁﬂuu.w") 100.00 PIECES MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
32 11507653 19-Sep-2015 CONZZ18526 PAINT BRUSH 22 mm (%fu) 36.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
33 11507579 17-Sep-2015 CONZZ18552 GRIP HOSE D.13-16 MM 50.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
34 11507584 17-Sep-2015 CONZZ31243 nsvanuifanla wue wun 2.0 wn. ey 10.5 aim. a0 5 o 80.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
35 11507492 15-Sep-2015 STA1000104 afninasiamuin  SAFETY LOGO awisen 1,000.00 PIECES MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 28-Sep-15
36 11507560 19-Sep-2015 STA2000004 NAME CARD AW wuy 2 & 100.00 Each MISS PAON SEEBAMRUNGSAS BKK PaonS@ssi-steel.com INCOMPLETE 28-Sep-15
37 11507141 14-Sep-2015 CONZZ14250 ANCHOR SHACKLES(atAutdn"STAINLESS DIA.6 MM.) 50.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
38 11507141 14-Sep-2015 CONZZ14251 CHAIN STAINLESS DIA.6 MM (‘lizu  suaulag) 100.00| Kilograms MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
39 11507660 19-Sep-2015 CONZZ17434 O-RING 3K0360 D. 16.4x2.2 FOR KRESS 10.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
40 11507622 18-Sep-2015 CONZZ20354 COPPERCLOD POINT ELECTRODDIA.6.5 mm.x 305 mm. 10.00 box MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
41 11507570 17-Sep-2015 CONZZ28401 COPPER CRIMP LUGS TYPE CL 95-12 ( 95 SQMM.) 75.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
42 11507506 16-Sep-2015 CONZZ31183 OIL SEAL POS.17 P/N.55515-00Z00 USE FOR NISSAN UD 6.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
43 11507506 16-Sep-2015 CONZZ31184 MOUTING REAR SPRING "\éV()AZS:OEI;-OTSF.!TéJST" FIG.C552 P/N.55513- 4.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
44 11507505 16-Sep-2015 CONZZ31869 MALE CONNEC:g: ;—l';lJIEBSP;IrAO‘I'IBCSKET('E{ANFSizMPBP??LI/4"PARKER") 20.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
45 11507437 14-Sep-2015 STA4006707 ansaliiaunisudutly (&) 1.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 28-Sep-15
46 11507574 17-Sep-2015 CONZZ08955 FAN MOTOR 24VDC'DIA'}1:2:\‘TZOZR291R CONDITION SYSTEM 1.00 Set MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 28-Sep-15
47 11507545 17-Sep-2015 CONzzosags | PROPANE GAS (;PGJ:;;; ng ﬂ;ﬁiﬁ%ﬂgﬁsé ﬂ()ﬁ°°fa“ﬁ uidian, 8.00| Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 28-Sep-15
48 11507476 14-Sep-2015 CONZZ30515 ighy  wuunduduenagfdion 10.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 28-Sep-15
49 11507348 14-Sep-2015 CONZZ31868 PIPE HANGER 2" FOR WET SECTION PPPL 5.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 28-Sep-15

Page 2 of 2




